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] 1. Help %>

help
help
help
help
help

il 2. A IR s 5
(1)
M=3
M=[12 6]
M=[126;467]
M13=M(1,3)
size(M)

A

i/

AN
il

cos
plot
abs
exp
+

Matrix——The basic variable type

(2) The Colon Operator ( :)
%Creating Array and Vector
% v = start: skip: end
x1=0:2:10
x2=0:1:10
t=-1:0.2:1

(or x=0:10)

%Accessing Matrix

v RARRRRRY, HERHEAE



A=[123;456;789]
A(2:3,1:2)
x2(4:8)

(3) Matrix Operations (A% B)
A=[234;698]
B=[123;587]

C1=A+B
C2=A-B
C3=A-4

(4) Matrix Operations (A*B A.*B)
% A*B
A=[234;698]
B=[12;35;87]
A*B

% A.*B
A=[234;698]
B=[123;587]
A.*B

(5) Matrix Operations (B/A ,A\C, B./A ,A.\C)
% B/A —— B*inv(A)
% A\C —— inv(A)*C
%B./A —— B(i,j)/Al(i,])
%A.\B —— A(i,j)\B(i,j)

(6) Matrix Operations (” and .?)
% " Operation
A=[123;456;789]
b=AN2
% .M Operation
A=[123;456;789]
b=A.A2

(7) Matrix Operations( A’ and A. ')
% A" HPIE
a=[1+2i 3+4i;3+2i 5+5i]

a/

% A. AELEEEE

/

a.



%l 3. 2R plot(x,y) » stem(k,y)
% plot(x,y)
x=0:0.01:2;
y=sin(2*pi*x);
plot(x,y)
%  stem(k,y)
k=0:50;
y=exp(-0.1*k);
stem(k,y)

Bl 4. M file
% y(t)=sin(2t) + sin(5t) -2pi
t =-2*pi:0.02:2*pi;
y=sin(2*t) + sin(5*t);
plot(t,y)

() % > @
1. EAdinsd
help plot
help colon
help ops
help zeros
help ones
pi*pi-10
sin(pi/4)
ans”2
z2z=3+4i;
conj(zz)
abs(zz)
angle(zz)
real(zz)
imag(zz)

2. Array Indexing
xx=[ones(1,4),[2:2:11],zeros(1,3)]
xx(3:7)
length(xx)
xx(2:2:length(xx))
xX(3:7)=pi*(1:5)

3. HELFiBAJESL M-file
t=-2:0.05:3;

<

t < 2pi



y=sin(2*pi*0.789*t);

plot(t,y), grid on

title('TEST PLOT of SINUSOID')
xlabel('TIME(sec)")

4, HEHHELLMMESHEIE(1<t<2) (H M-file SZHL)

X1(t) = 2cos(2xt +30°)

x2(t) = 4cos(27t —60°)
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1. EERREHES y=Ae", A=la=-04

[MATLAB F2/7]:

% decaying exponential signal
A=1;a=-0.4,;
t=0:0.01:10;
ft=A*exp(a*t);
plot(t,ft);grid on;
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B2 . HEFRRIEZES y=Asin(@t+9), A=l,0,=27,90=7/6

[MATLAB F£/F7]:
% sinusoidal signal
A=1;w0=2%*pi;phi=pi/6;



1=0:0.001:8;
ft=A*sin(wO*t+phi);
plot(t,ft);grid on;

[1B1T45R]:

13 . E R R y = sin(at) /(at)

CFFH R 2L sinc(t)
[MATLAB f£F%]:

% sample function .
t=-3*pi:pi/100:3*pi; /\
ft=sinc(t/pi); / \
plot(t,ft);grid on; 04 / \

BE (74651 c LA

4.  EEFORERES, WIEE A=,
[MATLAB F£/7]:
% rectangular pulse signal
t=0:0.001:4;
T=1;
ft=rectpuls(t-2*T,2*T);
plot(t,ft);grid on;axis([0 4 -0.5 1.5]);

WO W=2,

[1E1T45R]:

0.5

-0.5
0




#l 5.  EERRAPIE=MEAE S, WRE A=1, FEEN W=4, RE k=0.5.
[MATLAB f£F]:
% periodic triangular pulse signal
t=-5*pi:pi/10:5*pi;
x=sawtooth(t,0.5);
plot(t,x);axis([-16 16 -1.5 1.5]);grid on;

(1745 R

15

Jf TR
JIlVIAY RV VALY

ple. HERRIEETFH y=Ae™, A=1a=-06

[MATLAB F£%]:

% exponential sequence
k=0:10;A=1;a=-0.6;
fk=A*a."k;
stem(k,fk);grid on;

[1E1T45R]:

-0.2

0.4

-0.6
0

Bl 7. HEERRREAREE T
[MATLAB F£¥]:
% unit impulse sequence
k=-25:25;
delta=[zeros(1,25),1,zeros(1,25)];
stem(k,delta);

(T4 R ]:
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18 . FIH MATLAB i H f(2t) Fl f(2-2t) I

[MATLAB F£/%]:

%changed triangular pulse signal

t=-3:0.001:3;

ft1l=tripuls(2*t,4,0.5);
subplot(2,1,1);plot(t,ft1);title('f(2t)');grid on;

ft2=tripuls((2-2*t),4,0.5);

subplot(2,1,2);plot(t,ft2);title('f(2-2t)');grid on;

[1E1T45R]:
f(2t)
1
0.8 /\
0.6 \
\
0.2 \
93 2 -1 0 1 2 3
f(2-2t)
1
0.8 /\
0.6
/
0.2 /
93 2 -1 0 1 2 3

5

%19 | FIH MATLAB 5 = M5 5 B0 FAR ) o

5N W=4, 21 k=0.5.

[MATLAB F£/%]:
% functri(t) function

function yt=functri(t)

yt=tripuls(t,4,0.5);

%differentiation of triangular signal

h=0.001;t=-3:h:3;

y1=diff(functri(t))*1/h;
figure(1);plot(t(1:length(t)-1),y1);title('df(t)/dt");grid on;

_‘[/}iL

MBS TIRE A=1,



%integration of triangular signal
t=-3:0.1:3;
for x=1:length(t)
y2(x)=quad(‘functri',-3,t(x));
end
figure(2);plot(t,y2);axis([-3 3 -0.5 2.5]);title('Integral of f(t)');grid on;

[1B1T45R]:

diyict Integral of f(t
25

04

02

(=) % > @

1. WEZROREEERAG S, WIREE A=1, 52N D=75%.

2. EEFRR=MPET, WIRE A=, WEN W=4, FE k=0.5,

3. B R YRR TR N S S A0 A S = M bkt 5 5 JRE 5 k4

4. HERIRIEZT A sin(z/6)k

5. BRI EBAIBTER TS .
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il . CEIRGHMANG TA f(t)=10sin2at , REKVIEREANE, RGN

ﬁ%ﬁfﬁ%ﬁdzﬂo+zd§”+umﬂo=fay R y(t)o

t2

[MATLAB F&/7]:

%solution of differential equation

ts=0;

te=5;

dt=0.01;
sys=tf([1],[1 2 100]);
t=ts:dt:te;
f=10*sin(2*pi*t);
y=lsim(sys,f,t);
plot(t,y);
xlabel('t(sec)');
ylabel('y(t)');
grid on;

[1E1T45 R

¥

o | L]
AN AV LV IEAVIEAY

-0.25

0.2

N A A A A
NN A REEaa
ANRREREN

o L A L I

el ;

0 0.5 1 15 2 25 3 35 4 4.5 5
t(sec)

10



B2 . A2 BRI, HRAME T OREN 10 KIS S, K y(t).
[MATLAB F£/%]:
%impulse response of LTI system

ts=0;

te=5;

dt=0.01; )
sys=tf([10],[1 2 100]); I

t=ts:dt:te; 06 H
y=impulse(sys,t); 0-4H\ /A\
plot(t,y); Sl
xlabel('t(sec)"); ’ H / \/
ylabel(yit)) T

grid on; MR
21745 R D T

Bl 3. FE LA, FEIRE N 10 BIFMERE S, 3K y(t).
[MATLAB F£%]:
%step response of LTI system

ts=0;

te=5; oo

dt=0.01; el )
sys=tf([10],[1 2 100]); L
t=ts:dt:te; or / \
y=step(sys,t); 0_1/ L
plott,y); %l | || LM
xlabel('t(sec)"); 0_06/ H
ylabel('y(t)'); 0.04/ !

grid on; mk

81745 3] R

Hla . BEES xt)=el)—et—2), yt)=elt-3)—ct-5), FF MATLAB

THE x(t) * y(t) , FEHEH LR,

[MATLAB F£/¥]:
%convolution of two signal
t=-1:0.01:6;

T=1;

11



ftl=rectpuls(t-1,2*T);

subplot(3,1,1); plot(t,ft1);grid on;axis([-1 6 -0.5 1.5]);ylabel('x(t)');
ft2=rectpuls(t-4,2*T);

subplot(3,1,2); plot(t,ft2);grid on;axis([-1 6 -0.5 1.5]);ylabel('y(t)")
z=conv(0.01*ft1,ft2);

t2=(0:length(z)-1)*0.01-2;

subplot(3,1,3); plot(t2,z);grid on;axis([0 10 -0.5 3]);ylabel('x(t)*y(t)")

N— S :I:
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1. SRR TN
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BRIZ R G R ZARES TR y(t) o

2. CRIZMERGHIHD TN

d?y(t) "
dt?
oK (1) RGBS Y
(2) ZZR G HAL B BRI R
3. AN LT EELE RS B O B h(6) AU E S e(t) T T K]
Frw, K1 RG0S UG 5 1 AR B o

h(t) eqt) e(t) es(t)
1 1 1 1
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0 n=0

[MATLAB F&7]:

%frequency spectrum of periodic triangular signal

N=10;

nl1=-N:-1;

cl=-4*j*sin(n1*pi/2)/pir2./n1.22;  %it5 n=-N 2| —1 B FE 78 R 2L

c0=0; % I n=0 I FIE BB R KL

n2=1:N;

c2=-4*j*sin(n2*pi/2)/pir2./n2.02;  %itH n=1 2 N B LB R E

cn=[c1 c0 c2];

n=-N:N;

subplot(2,1,1);stem(n,abs(cn));ylabel('Cn FJ1iE E");
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subplot(2,1,2);stem(n,angle(cn));ylabel('Cn FIAHLL);
xlabel("\omega/\omega_0');

(T4 R
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#12 . FH MATLAB R BUE T ZE R = A E f(t)={l_0|t| :t:i
AT o
[MATLAB F£/7]:

%example2 [ ER%L
function y=sf1(t,w)
y=(abs(t)<=1).*(1-abs(t)).*exp(-j*w*t);

% Frequency spectrum of triangular signal using quad8 function
w=linspace(-6*pi,6*pi,512);
N=length(w);
F=zeros(1,N);
for k=1:N
F(k)=quadl(@sf1,-1,1,[],[],w(k));
end
figure(1);
plot(w,real(F));
xlabel("\omega');ylabel('F(j\omega)');title(' =I5 T T LA EE");
figure(2);
plot(w,real(F)-sinc(w/2/pi). 2); %iX B[] sinc BREUE BRI N ER T 5 4
xlabel("\omega');ylabel('error');title(' 11 F 1R Z");

(1745 R

15
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#13 . FIF MATLAB ifi @ = +0.9 i} F(eJQ)_

[MATLAB F2/7]:

% amplitude frequency spectrum of a sequence

b=[1];a1=[1 -0.9];a2=[1 0.9];
w=linspace(0,2*pi,512); %Zk 135
hl=freqz(b,al,w);
h2=freqz(b,a2,w);
plot(w/pi,abs(h1),w/pi,abs(h2),'k:");
xlabel("\Omega/\pi');
legend("\alpha=0.9',"\alpha=-0.9');

12

0 31| 2pi W[EIRE, I

[afrai R

T T
— a=0.9
— a=-09

4 . FIEBL L R G AR I N -

H(jo)=

LGSR

512 M5

(io)® +2(jo)* + 2(jo) + 1

FFH MATLAB i H 1% 2 Gt FITRATI N | H (jo) | FIAH ST B ¢ (o) o
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[MATLAB £ +]:

% frequency response of a system
b=[1];a=[1,2,2,1];
w=linspace(0,5,200);
H=freqs(b,a,w);
subplot(2,1,1);

plot(w,abs(H));
set(gca,'xtick',[0 1 2 3 4 5]);
set(gca,'ytick',[0 0.4 0.707 1]);
xlabel("\omega(rad/s)');
ylabel('|H(j\omega)|");

grid on;

subplot(2,1,2);
plot(w,angle(H));
set(gca,'xtick',[0 1 2 3 4 5]);
xlabel("\omega(rad/s)');
ylabel('\phi(rad)');

grid on;
0.707
. €
LEfT45 R ): L os
0 h
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o(rad/s)
4
——
2
|
= |
2 \[
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(=) % 2] @

1. SR E s A R bk 45 5 B 08 S 8 m e JF ) MATLAB SR i
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2. M MATLAB R HEE TR HE = MEE S f() =e(t+) —e(t-1) I
B .
3. 59 falt) N fH(t)an B,

(1) HXt=0:0.05:2.5, i f(t) = f,(t)+ f,(t)cos(50t) I

fi(t)

(2) —RGMH(jo) N:

20

H(jow) =
Ue)= Gy 1 16w r8

H freqs 1 H H (o) WE AT SR AH ST [ 28
(3) A lim BRECR S5 £ (t) A0 f (t) cos(50t) i@IT I id R GEfm M y, (t)

Ay, (6) » FFARYE R I& R AR U B 45

. ERPE
1. HR BT EHLSE I RS A RRAE IR SEARGAETE
2. SEAE ST G AR SIS A6 25 3] L
I\ SEREER
ARSI R ST MATLAB R 7 I8 1T, ETHREL a7 JL A5 2R
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ANy ERAR
(—)  fl
Bl 1. FER A SR IFER F(s)H Laplace RAEH:: F(s)=— >+ 2

s® +4s? 4+ 3s
[MATLAB #£/%]: % inverse Laplace transform by partial-fraction expansion

formatrat; % N4 BRI /INEE 2 LU B R
num=[1 2];

den=[1430];

[r,p]=residue(num,den) % r,p )N %] A &

HE1T4i 4
r=
-1/6
-1/2
2/3
p:
-3
-1
0
BI, HfEr &
o1 12,
r_[6’z§'p_[&Lm’
Jil] F(S)=2/3+—1/2+—1/6

’
S s+1 s+ 3

AN f(t) = % u(t) — %e‘t u(t) — %e‘gt u(t)

19



W2 . FHEBY > B TFEESR F(s)[ Laplace R AEH: F(s)= s=2

s(s+1)°
[MATLAB F£¥]: % inverse Laplace transform using conv function and

partial-fraction expansion

num=[1-2];

a=conv([1 0],[1 1]);

b=conv([1 1],[1 1]);

den=conv(a,b);

[r,p]=residue(num,den) % r,p 345 ] =

%55 Mg
% inverse Laplace transform using poly function and partial-fraction

expansion
num=[1-2];
den=poly([0,-1,-1,-1]);
[r,p]=residue(num,den) % r,p 5 45 ] =
EAT45 R
r=
2
2
3
-2
p =
-1
-1
-1
0

B, FAEF T EH
r=12,23-2], p'=[-1-1,-10],
2 2 3 -2

+ 5+ Tt
s+1 (s+1)° (s+1) s

N F(s)=

RAHN  ft)=(2e +2te™ +1.5t%e™" — 2)u(t)

% 3. FHEBo 4 B FFEESKR F(s)[ Laplace [RBH#k: F(s)= 2s% +3s% 45

(s+1)(s?+5+2)

[MATLAB F£/%]: % inverse Laplace transform by partial-fraction expansion
num=[2 3 0 5];
den=conv([11],[11 2]);
[r,p,k]=residue(num,den) % r,p ¥ %A &
[angle,mag]=cart2pol(real(r),imag(r))

20



[iE17 45 R
r=
-2 +2024/1785;i
-2 - 2024/1785i

-1/2 +1012/765i
-1/2 -1012/765i

angle =
1972/751
-1972/751
0
mag =
7895/3434
7895/3434
3
B, A&
r' =[-2.0000 +1.1339i, - 2.0000-1.1339i, 3.0000], p’=[-0.5000 +1.3229i, - 0.5000 - 1.3229i, - 1.0000], k = 2
angle’ =[2.6258, - 2.6258, 0], mag’'=[2.2991, 2.2991, 3.0000]
Ft LA
3 —2-1.1339i —2+1.1339i 3 2.2991¢ 26258 2.2991¢ 26758
F(s)=2+ + -+ -=2+ + -+ -
s+1 s+05+1.32291 s+0.5-1.3229i s+1 s+05+1.32291 s+ 0.5-1.3229i

f(t)=26(t) + 3e~"u(t) + 4.5982e °°' cos(1.3229t + 2.6258)u(t)
Bl 4. S W R MATLAB 1 ff) laplace Al ilaplace PRE(R: (1)
f(t)=e " sin(at)u(t) f¥J Laplace Z&5#t; (2) F(s)=2S—21 #] Laplace A #t.
s? +

MATLAB F£/%]: %(1) Laplace transform using laplace function
[ p glap

f=sym('exp(-t)*sin(a*t)');

F=laplace(f)

%(2) Inverse Laplace transform using ilaplace function
F=sym('s"2/(s"2+1)");

ft=ilaplace(F)

EAT45 R
F=
a/((s+1)72+a”2)
ft=

21



Dirac(t)-sin(t)

BI, 53N F=al((s+1)"2+ar2),

ft = Dirac(t) —sin(t), BJ f(t) =4(t) —sin(t)u(t)

s, CHIRGEBAHE) =, FIF MATLAB Kili% R4 0T

S +25+2
W, FEEH R R A
[MATLAB #£/%]: % pole-zero map of H(s) using plot function
b=[1-1];
a=[122];
zs=roots(b);
ps=roots(a);
plot(real(zs),imag(zs),'o’,real(ps),imag(ps),'kx','markersize’,12);
axis([-2 2 -2 2]);
grid on;
legend ("2 5", R )

[1B1T45 R

2
O %
X M
15

0.5

-0.5

-1.5

6. CHRGRENH(s) =—— ., FUFT MATLAB i 1% R 41

s 4252 +2s5+1
TR AT SR R G ERAL T B A () IR A N, A R G R
JE o
[MATLAB F£¥]: % impulse response, amplitude frequency response and

stability analysis
% of LTI H(s)

num=[1];

den=[1221];

sys=tf(num,den);

22



poles=roots(den);

figure(1);

pzmap(sys);

1=0:0.02:10;
h=impulse(num,den,t);
figure(2);

plot(t,h);
xlabel('t(s)');ylabel('h(t)');title('Impulse Response');
[H,w]=freqs(num,den);
figure(3);

plot(w,abs(H));
xlabel('ang.freq.\omega(rad/s)');
ylabel('|H(j\omega)|");
title('Magnitude Response');

[1E1T45R]:

Pole-Zero Map
T T

X

Imaginary Axis
o
x

1 r r r r : :
-1.4 -1.2 -1 -0.8 -0.6 -0.4 -0.2 0
Real Axis

Impulse Response
T T T

h(t)
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Magnitude Response
T T T

[HGw)l
o
o

0 i é é :ng‘ﬁeqfsw(radlg 7 z; s; 10
() 2 2] /&
1. CHIELEN S 51 s WE R, R residue K F(s)I3EE 22 B
=, FEH ANRIRIER
41.6667
(1) F(s)=— -
s° +3.7444s% + 25.7604s + 41.6667

3

s
(5+5)s? +55+25)

2. CURIBEHESER A RGBT 7L N
y(t)+4y'(t)+3y(t) = 21 (t)+ £ (1)

£(t)=(t)y(0.)=1y'(0.)=2, HRAGMEHNGIRL. TR A0 SR

SR, I
R

3. EMRREREONH(s) = —— s Bl @ = 0,1, 1 21 R%ih
S°+2as5+1
AR, MR RGN, R SO U R B 2

S+2

(2) F(s)=

4, CHIF(s)= 0 , W% RGBS, R AL
§°+25°+2s5+1
FRPLIU AR
I B M S8 R A0 2 e [
. LB RE

1. HR-SHEONIHEE_EALSEI0 RS A R IR ARG,
2. SEAEOT G R S SIS
N\ SERERR
SRR SRR TN S MATLAB FE P IFi8 4T, AETHENL B4 A 45 2R
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“EESERA” XREIH GO

—. SLHRREmMG: 105002
=, EBWREER: E55RSE
=, SEIRTRE AR BEUN [E) RGNS AT ) MATLAB S
Pd. SE%H R
FEiEH] MATLAB SEBLE BN (8] R HY RS R o B B BRI B |
BRI SR AR .
fi. EEERL
R MATLAB FA4 FE) HL G

N ERAE
(—) fil &

B 1. ZMEE TS S8 F(K)=s(k)+d(k) » 2o s(k) = (2k)0.9% R 1515 5,

) R EL M AR T RGO AR RN 3= 5 T f(kn).
n=0

B MATLAB 42523 MR 8113 RGN B A TS & k.
[HE7R: MERE {55 A MATLAB W) rand B84, BHBINERBES E,
A5 32 e /= IS 5 flk)].
[MATLAB F£/¥]: %signal smoothing by moving average filter
R=51; %length of input signal

%generate(-0.5,0.5)uniformly distributed random numbers

d=rand(1,R)-0.5;

k=0:R-1;

s=2*k.*(0.9.7k);

f=s+d;

figure(1);

plot(k,d,'r-.", k,s,'b:", k,f,'k-");

xlabel('Time index k');

legend('d[k]','s[k]",'f[k]');

M=5;

b=ones(M,1)/M;

a=1;

y=filter(b,a,f);

figure(2);

plot(k,s,'b:',k,y,'r-');
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xlabel('Time index k');
legend('s[k]','y[k]');

(21745 R

: dlk]

c c c c c . c c .
0 5 10 15 20 25 30 35 40 45 50
Time index k

s[k]
7 /\ —l
6 / <
/ \
// \\
5f \
\
\
4 N\
\
3 \
N
.
2
/ \ "'\
1 T A
N

c c : c : c c c c
0 5 10 15 20 25 30 35 40 45 50
Time index k

il 2. F impz BRECR T SRS BON E RS BRI h(k), FFSELIS M
h(k)=—(-1)* +2(-2)*, k2 0 BEAT L. y(k)+3y(k — 1)+ 2y(k —2) = f (k)

[MATLAB F£/%]: %impulse response of discrete system
k=0:10;
a=[1,3,2];
b=[1];
h=impz(b,a,k);
subplot(2,1,1);
stem(k,h);
title ("B A AR M L R AT (LML)
grid on;
hk=-(-1).~Ak+2*(-2).7k;
subplot(2,1,2);
stem(k,hk);

26



title(" SR M B R R AR);

grid on;
HEfr 45 R
B RE AR 0 R () ST L B
3000
2000
1000
o
-1000
20004 1 2 3 4 5 6 7 8 9 10
B RE B o R EE i
3000
2000
1000
-1000
20 3 4 5 6 7 8 9 10

Bl 3. BRI x(k)={1,2,3,4;n=0,1,2,3}, y(k)={1,1,1,1,1;n=0,1,2,3,4}, F|H
MATLAB 5 x(K) * y(k) , FHE B R 455

[MATLAB F£/%]: %convolution of two sequences
x=[1,2,3,4];
v=[1,1,1,1,1];
z=conv(x,y);
subplot(3,1,1);stem(0:length(x)-1,x);ylabel('x(k)");
subplot(3,1,2);stem(0:length(y)-1,y);ylabel('y(k)');
subplot(3,1,3);stem(0:length(z)-1,z);ylabel('x(k)*y(k)');xlabel('k');

(1745 R

r r r
0 0.5 1 15 2 25 3

(K)ry()
o o 5
S IR
L o
——————o
—o0

(7)) % 2] @

1. T F()=+f(N-1-k),h(k)=+h(N-1-K) , F conv i ¥(il &

f(k)*h(k).
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2. FH impz %, HE RS
y(k)+0.7y(k—1)—0.45y(k — 2)— 0.6y(k—3) =
0.8f (k)-0.44f (k—1)+0.36f (k- 2)+0.02f (k- 3)
(B ik e B2, R AT 31 AR
3. FIH filter BR%, KRS y(k)-1.85y(k—1)+0.85y(k—2)=f (k) ¥
FAA K S, IR RS R SRR E .
+. EKPR
1. B FEINIHEE EALLIG AR AE R B AR i
2. PEAENST YRR SO S 5
N\ SRR
ARG R S g S MATLAB f87 3F1817, fETHENL BB mas A,

28



)

“ESERG” KBESH (B

SEIOURFERAD: 105002

=\ LR ELR: BE5R4
=\ LR E LR B R RS Z 535 5T MATLAB S231

I

LN
~

SEH H )
I MATLAB SEIL R HIUN 18] R 4¢ Z Wt h IR sk 2 e i z
H 2R 490 bR BSSR A L AU ] N 5

. EEEE

I MATLAB 304 1) Ha i

Ny EBAE

(—) B i

1. FUH MATLAB 1L F()=— 10 A RIETFA.
18+3z27" —-4z27° -2
[MATLAB #£/%]: % Partial-fraction expansion of F(z)
num=[18];
den=[18 3-4 -1];
[r,p kl=residuez(num,den)% r,p N4 H &

(121745 R
r=

0.3600

0.2400

0. 4000
p =

0.5000

-0.3333

-0.3333
k =

[]
I, s e

r’ =[0.3600, 0.2400, 0.4000], p’=[0.5000, - 0.3333, - 0.3333],k =[]

N 0.36 0.24 0.4
bl F(z)= ot ot “182
1-0.5z 1+ 0.3333z (1+0.3333z77)

w2 . M — S HMERE M 240 E2% K BN

3

= -2 _
H(z) = z_t2z7 4z LSRRG E A

1-0.5z71-0.005272 + 0.3z
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2
VWL: SR RAIS N H@ = T2 L USR] tf22p BECR A
z° —-0.5z°-0.005z + 0.3

G F R R
[MATLAB F£/%]: % zeros and poles of H(z)
b=[121];
a=[1-0.5-0.005 0.3];
[r,p k]=tf2zp(b,a) % rp AN E

zplane(b,a);

[iE17 45 R
r=
-1
-1
p =

0.5198 + 0.5346i
0.5198 - 0.5346i
-0.5396

k=1

Rk OH O OEF AR z=-12), z=0 ; =
z =0.5198+0.5346i, z=-0.5396.

EM ST
W[
0.8+
0.6 «
0.4
E 0.2f
| A D S —
g-o.zf
oak
0.6 *
0.8
Ak
1 05 0 05 1
Real Part
. R 22 +22+1
B3, CH—BEEEE T RGN RGEREN: HEz) =

23 —0.5z2 = 0.0052 + 0.3
M MATLAB 1H H % R GE AR 0 AT B SRR G B A A A S AT A
FHIWT R G H R e P
[MATLAB F£J¥]: % Impulse response, amplitude frequency response and stability

analysis of %LTI H(z)
b=[0121];
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h(k)

[z

2.5

15

0.5

-0.5F

a=[1-0.5-0.005 0.3];
figure(1);

zplane(b,a);
num=[0121];
den=[1-0.5-0.005 0.3];
h=impz(num,den)
figure(2);

stem(h);

xlabel('k');
ylabel('h(k)');
title('Impulse Response');
[H,w]=freqz(num,den);
figure(3);
plot(w/pi,abs(H));

xlabel('ang.freq.\Omega(rad/s)");

ylabel('|H(e*j*\Omega)|'
title('Magnitude Response');

e R
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Magnitude Response
T T T

[HE )|

0 c c c c c : c r
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
ang.freq.Q(rad/s)

ZRGNAFRTE RS, 0 AT IR A

Bl 4. 43 HIFH MATLAB 7] ztrans Al iztrans BRECR : (1) (k) = cos(ak)u(k)

(1) z A5 4
(2) F()=—1— MRAH.
1+72)
[MATLAB #£/%]: % (1)Z transform using ztrans function
f=sym('cos(a*k)');
F=ztrans(f)
% (2)Inverse Z transform using iztrans function
F=sym('1/(1+z)"2");
f=iztrans(F)

EAT45 R

F=
(z-cos(a))*z/(z72-2*z*cos(a)+1)

f:

charfen[0](n)-(-1)*n+(-1)*n*n
(=) % 2]
1. H reiduez %k, KH T HI& I 74 200 flk)

27* +162° + 44z +562 + 32
(1) F(z)=" - .
3z +32° -15z° +18z2 -12

47z* —8.68z° —17.982% + 26.74z —8.04
(2) F(z)= : . :
2" —-272°+10z° +6z2+65

2. ORI UM R R ST 2200 T RN
2y(k)—y(k-1)-3y(k—-2)=2f (k)- f (k-1)

f (k) =0.5¢(k), y(-1) =1, y(-2) =3, k[ filter BRER RSG5 N\
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o2 ZPR A M N2 A 58 4 o

3. FIH filter BRBURE RS H(z)= 1

1-1.8527 +0.85z~

R b
I B h(k) 167 2 G TR

_ 2z* +162° + 44z + 562 + 32
4. F zplane (num,den) PR%L, HH H(z)= ]
P (2) 3z* +3z° -15z? +182-12

T K
5 . O M B OELR oM R 4 M OB AL Bk oo M

h(k)=a“[e(k)-e(k-N)],.a>0, RARZGHKH, miHREMEW L
A VL 32 2t 2 RIS Wi 7 1 2

. ERPE
1. HR BT ELSE I A A RRAT IR SEARBARTE,
2. SEAE ST G AR SIS B0 25 3] L
I\ SEREER
FAEXT SIS SR 5] i MATLAB R 7817, ETHRNL a4 A5 2R
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=, ERTEAKR: ELRG. BHlRAN RS (CREMEER)
Mu. L HK

N AR & AR S 5 5 KRG UREE TP 255 B FH MATLAB HIRE /T .
. EERE

A MATLAB B A ) Ha i
Sy EBRAE

_ 47* +1562° + 62> +2.47-6.4
32 +2.47° +6.32° -11.42+6
EEE, W REMTRREM, KZAGHIH RN o

2. ﬁ—ﬁmm%%,ﬁﬁﬁﬁﬁ%H@ﬁsfziﬁ,u>iﬁﬁm@

ht), (2) RIZRGMOFRMRL, Hm e OIEFE LS, (D &

1. RAGRHEH(2) RO R, Fm

FRGHI X (t)=£(t),
y(0.)=1y'(0 ) =2, sREHMAMIRL, TR LK AR o

+. ERPR
AR T G A S TR S R ) L
N\ SERER

SRR SRR )N S MATLAB F2 7 IFi8 4T, AETHENL 4 A 45 2R
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